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1 100kN/m#E# 2 % 1.00{ 0.00 ~ 2.01 131.04| 3m%#BZ % ol ~ - - —| 100kN/mM%#8% % 1.00( 11.02 ~ 20.92 131.04| 3m%x A5 = ad - - =
FhLlst 1.00{2.01 ~ 9.79 100.00] Z#hLlst | 0.00 ~ 9.79] 2.22 11.24 FnLLst 1.00f 5.00 ~ 11.02 100.00] Z#hLlst | 5.00 ~ 20.92| 2.22 11.24
9 100kN/m#E# 2 % 1.00{0.00 ~ 2.41 137.62| 3m% B2 % ol ~ - - —| 100kN/mM%#8% % 1.00( 11.46 ~ 30.92 137.62| 3m%x A5 = ad - - =
FhLlst 1.00{ 241 ~ 10.19 100.00] ZHLlst 10.00 ~ 10.19] 2.79 14.11 FnLLst 1.00f 5.00 ~ 11.46 100.00] &#nLlst | 5.00 ~ 3092 2.79 14.11
3 100kN/m#E 2 % 1.00{0.00 ~ 2.85 145.18| 3m% B2 % ol ~ - - —| 100kN/mM%#8% % 1.00( 10.83 ~ 30.92 145.18| 3m%x A5 = ad - - =
FhLlst 1.00{ 2.85 ~ 10.64 100.00] ZhLl5t | 0.00 ~ 10.64| 2.89 14.62 FnList 1.00] 5.00 ~ 10.83 100.00] &#hLlst | 5.00 ~ 30.92| 2.89 14.62
4 100kN/m#E 2 % 1.00{ 0.00 ~ 3.11 149.52| 3m% B2 % ol ~ - - —| 100kN/mM%#8% % 1.00] 10.60 ~ 30.92 149.52| 3m%x A5 = ad - - =
FhLlst 1.00] 3.11 ~ 10.89 100.00] ZHLl%+ 1 0.00 ~ 10.89| 2.97 15.01 FnLLst 1.00] 5.00 ~ 10.60 100.00] Z#nLlst | 5.00 ~ 30.92| 297 15.01
5 100kN/ Mm% 2 % 1.00{ 0.00 ~ 291 146.11| 3mZ B2 % ol ~ - - —| 100kN/mM%#8% % 1.00( 10.77 ~ 30.92 146.11|3mT A5 = ad - - =
FhLlst 1.00{ 2.91 ~ 10.69 100.00] ZhLl4t [ 0.00 ~ 10.69] 2.91 14.69 FnList 1.00] 5.00 ~ 10.77 100.00] Z#nLlst | 5.00 ~ 30.92| 2.91 14.69
6 100kN/ Mm% 2 % 1.00{ 0.00 ~ 291 146.11|3m%i#€%%|0.00 ~ 0.02( 3.01 15.22| 100kN/m%#B% % 1.00{ 10.77 ~ 30.92 146.11|3m%i#B 2 %( 30.00 ~ 30.92| 3.01 15.22
FhLlst 1.00{ 2.91 ~ 10.69 100.00| ZHLlst | 0.02 ~ 10.69] 3.00 15.16 ZFNLLS 1.00] 5.00 ~ 10.77 100.00] ZHLlst | 5.00 ~ 30.00f 3.00 15.16
7 100kN/ Mm% 2 % 1.00{0.00 ~ 2.33 136.41|3mZ B2 % ol ~ - - —| 100kN/mM%#8% % 1.00( 10.83 ~ 22.85 136.41|3m% A5 = ad - - =
Thilst 1.00{ 2.33 ~ 10.12 100.00|] ZhLl4t 10.00 ~ 10.12| 2.57 12.99 ZnLlst 1.00] 5.00 ~ 10.83 100.00] Z=hbllst | 5.00 ~ 22.85] 257 12.99
8 100kN/mM%E#BZ % 1.00{ 0.00 ~ 2.20 134.16| 3m%x#EZ 5 =l ~ - = —| 100kN/mM%#8% % 1.00] 10.91 ~ 22.02 134.16| 3mZ#BZ % i ~ = = =
Thilst 1.00[2.20 ~ 9.98 100.00|] ZhLl4t | 0.00 ~ 9.98| 255 12.91 ZnLlst 1.00] 5.00 ~ 10.91 100.00] Z=hLlst+ | 5.00 ~ 22.02| 255 12.91
9 100kN/mM%E#B 2 % 1.00{ 0.00 ~ 2.20 134.16| 3m%x#EZ 5 =l ~ - = —| 100kN/mM%#8% % 1.00] 10.91 ~ 22.02 134.16| 3mZ#BZ % i ~ = = =
Thilst 1.00{2.20 ~ 9.98 100.00|] ZhLl4t | 0.00 ~ 9.98| 255 12.91 ZnLlst 1.00] 5.00 ~ 10.91 100.00] Z=hbLlst | 5.00 ~ 22.02| 255 12.91
10 100kN/M%E#B 2 % 1.00{ 0.00 ~ 2.09 132.41|3m%x#EZ 5 =l ~ - = —| 100kN/mM%#8% % 1.00] 11.57 ~ 25.60 132.41|3mZ#BA % i ~ = = =
Thilst 1.00{2.09 ~ 9.88 100.00|] ZhLl4t | 0.00 ~ 9.88| 247 12.48 ZnLlst 1.00] 5.00 ~ 11.57 100.00] Z=hLlst | 5.00 ~ 2560 2.47 12.48
11 100kN/mM%E#BZ % 1.00{ 0.00 ~ 3.01 147.92| 3m%x X5 =l ~ - = —| 100kN/mM%#8% % 1.00] 10.83 ~ 35.60 147.92| 3mZE#BZ % i ~ = = =
Thilst 1.00{ 3.01 ~ 10.80 100.00| ZHhLl4t [ 0.00 ~ 10.80] 3.00 15.14 ZnLlst 1.00] 5.00 ~ 10.83 100.00] Z=hLlst+ | 5.00 ~ 35.60[ 3.00 15.14
12 100kN/mM%E#BZ % 1.00{ 0.00 ~ 3.36 153.96| 3m% 24| 0.00 ~ 0.12| 3.06 15.46| 100kN/mM%#8% % 1.00] 10.64 ~ 41.60 153.96[3m%x#Z 5| 30.00 ~ 41.60[ 3.06 15.46
Thilst 1.00{3.36 ~ 11.14 100.00] ZzhLlst [0.12 ~ 11.14] 3.00 15.16 ZnLlst 1.00] 5.00 ~ 10.64 100.00] Z=hLlst+ | 5.00 ~ 30.00f 3.00 15.16
13 100kN/mM%E#B 2 % 1.00{ 0.00 ~ 3.05 148.47|3m% 824 0.00 ~ 1.85| 3.77 19.06| 100kN/m%#8% % 1.00] 11.06 ~ 84.08 148.47|3m% A 5| 40.00 ~ 84.08( 3.77 19.06
Thilst 1.00{ 3.05 ~ 10.83 100.00] ZhLlst | 1.85 ~ 10.83] 3.00 15.16 ZnLlst 1.00] 5.00 ~ 11.06 100.00] Z=hLlst+ | 5.00 ~ 40.00f 3.00 15.16
100kN/M%E#BZ 5 ~ 3mEHEA D ~ 100kN/ M#EH#EZ % ~ 3mEHEZD ~
ZhList ~ ZhList ~ Zh st ~ Zh st ~
100kN/M%E#BZ 5 ~ 3mEHBA D ~ 100kN/ M#EH#EZ % ~ 3mEEZD ~
ZhList ~ ZhList ~ Zh st ~ Zh st ~
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